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ϕ(x) = λ
∫ π

0
sin(x+ y)ϕ(y)dy + sin(x)

ϕ(x) = λ
∫ π

0
[sin(x) cos(y) + cos(x) sin(y)]ϕ(y)dy + sin(x)

ϕ(x) = λ sin(x)
∫ π

0
cos(y)ϕ(y)dy + cos(x)

∫ π

0
sin(y)ϕ(y)dy + sin(x)

Při označńı konstant:
A = λ

∫ π

0
cos(y)ϕ(y)dy + 1

B = λ
∫ π

0
sin(y)dy

Má rovnice tvar:
ϕ(x) = A sin(x) +B cos(x)
Vypoč́ıtáme konstanty A,B:
A = λ

∫ π

0
cos(y)[A sin(y) +B cos(y)]dy + 1

B = λ
∫ π

0
sin(y)[A sin(y) +B cos(y)]dy

A = λ
∫ π

0
A cos(y) sin(y)dy +

∫ π

0
B cos2(y)dy + 1 = Bλπ
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B = λ
∫ π

0
A sin2(y)dy +

∫ π

0
B sin(y) cos(y)dy = Aλπ
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Výsledek:

ϕ(x) =
1
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2
)2

sin(x) +
λπ
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cos(x) (1)

1
∫ π

0
sin(y) cos(y)dy = 1

2

∫ π

0
sin(2y)dy = [η = 2y; 2dη = dy] 14

∫ 2π

0
sin(η)dη = 0∫ π

0
sin2(y)dy =

∫ π

0
cos2(y)dy = π
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